
Worksheet of the Week 

September 6–9, 2016 

 

1. Kennedy and her friends were in a race.  They were all very close 

crossing the finish line.  Their names are shown in the table below. 

                       

Student Name Time (in seconds) 

Kennedy 24.375 

Makayla N. 24.357 

Brady 24.307 

Trinity 24.37 

                 According to this table, who took the most time? _______________ 

 

                 Who had the fastest time?  __________________  (faster time – lower number) 

2. Jonathan had to write five hundred twenty-three thousand, two and three 

hundredths in standard form.  How did he write it? 

                  

 

3. What is 0.2 greater than 14.67? 

                      

4. What is 0.05 less than 0.28? 

                                         

5. Put the following numbers in order from least to greatest. 

                  0.4  ;   0.04    ;   0.35    ;    0.305 

                        

             
 

                 

             

6. Grace purchased 4 t-shirts and 2 pairs of jeans.  Each t-shirt cost $10 and 

each pair of jeans was $25.  What was the total cost of Grace’s purchase? 



                  

7. Put the following numbers in order from least to greatest: 

          65,081,127  ;  7,000,128   ;  9,910,001 

          

8. Put the following numbers in order from greatest to least: 

          90,459,012,045  ;  91,459,012,045  ;  90,459,010,045 

                       

 

9. Mrs. Meyer wanted to split the candy in her jar between 8 students in her 

homeroom.  If there are 268 pieces of candy in the jar, about how many 

will each student get?  

 

                               

10. Mr. Sims wants to buy his wife flowers for her birthday.  Each flower cost 

$12.  If Mr. Sims plans to buy his wife 24 flowers, about how much money 

will he spend on the flowers?  

 

 

11. Mrs. Duplantis wanted to buy 21 pickles to give to the students who won a 

contest in her class.  She found each pickle cost $0.98.  About how much 

money will Mrs. Duplantis spend? 

 

 

12.  Estimate the solution: 

 698                 945                                           682 

X 23                                       x35                                               x16 

 

 

 

13.    985  ÷ 24                                               3,472 ÷  34 


